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31 General
For specific instructions for making diameter and length defect deductions refer to the following:


1.  Official Log Scaling and Grading Rules handbook published by the Northwest Log Rules Advisory Group.


2.   FSH 2409.11, National Forest Log Scaling Handbook as supplemented.


3.  R10 2400-18 11/85 edition.

31.1 - Sweep and Crook
Sweep Guidelines
Definition.  Sweep is a continuous curve that may affect the entire segment length or a portion of that length.


1.  Scaling cylinder alignment shall be positioned within the log and/or the scaling cylinder length shall be adjusted so that maximum volume recovery can be achieved.


2.  At a minimum, a volume reduction equivalent to a one-foot length deduction shall be made each time the cylinder is redirected.


3.  The starting point of the redirected cylinder may start at the end of the preceding cylinder.


4.  When an over deduction occurs due to the application of the preceding sweep guidelines, a deduction will be made that represents the actual volume lost.


5.  Consider cross grain material when making deductions for sweep.

Crook Guidelines
Definition.  Crook is an abrupt curve or bend in a log, such as snow breaks, sucker limbs and pistol butts.


1.  Make deductions only for that portion of the crook that will not produce merchantable lumber.


2.  After deductions are made for crook, any remaining portion of the scaling cylinder less than 8 feet in length shall be deducted.


3.  Consider cross grain material when making deductions for crook.
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 (Figure A).  The scaling cylinder has been positioned within the full length of the log.  No deduction is necessary.
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(Figure B).  A continuous scaling cylinder cannot be positioned within the full length of the log, as illustrated by the broken line.  The scaling cylinder length has been adjusted and redirected requiring a volume reduction equal to a 1-foot length deduction.

Sweep

40’


[image: image3.png]



(Figure C).  A volume reduction equal to a 1-foot length deduction is made for each cylinder redirection.  Each redirected cylinder will start at the end of the preceding cylinder.  The total deduction for sweep on this log would be a 2-foot length deduction for volume lost in redirecting the cylinder.
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 (Figure D).  In some cases the application of the sweep guidelines may over deduct for volume lost, as illustrated by the broken line.  However, full-length lumber can be sawn through a large portion of this log.  A deduction should only be made for the void area inside the scaling cylinder, represented by shaded area (A), and that portion of the cylinder that will not produce 8-foot lumber recovery, represented by shaded area (B).

Approximately ten percent of the scaling cylinder will not produce 8-foot lumber recovery.  The total deduction for volume lost on this log may be represented by either a 2-foot or 2 inch diameter deduction.
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(Figure E).  Crook in this log requires a 2-foot length deduction to eliminate cross grain and rot in the location of the sucker limb.  A minimum 8-foot of merchantable length cannot be obtained above the sucker limb.  Total deduction for this log would be an 8-foot length deduction.
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(Figure F).  This log contains crook that can be eliminated with a 1-foot length deduction, which includes the cross grain material.
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(Figure G).  Cross grain material is associated with most pistol butt defect.  When making a deduction for this defect, an additional deduction may be necessary to eliminate cross grain material.

The scaling cylinder leaves the log at 28 feet.  Due to cross grain, an additional 2-foot deduction would be needed.  Total defect results in an 8-foot length deduction.

Sweep and Crook
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(Figure H).  Sweep and crook can be found in the same log.  Identify the defect and make appropriate deductions.

A deduction of 2 feet would be made to eliminate the snow break and a 1-foot deduction for sweep, which includes cross grain material.  The pistol butt is eliminated with a 4-foot length deduction.  Total deduction for defect is 7 feet.
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(Figure I).  When deducting for sweep or crook in long logs, logs over 40 feet in length, it is important to remember to treat the log as two separate segments.  Each segment stands on it’s own. Visualize the log as being bucked at the appropriate segment length.  Make deductions separately for each segment affected.

This log contains crook in the first segment.  A 2-foot length deduction will eliminate the defect but only 7 feet of segment length remains.  Total deduction for the top segment would be 9 feet.

The second segment contains sweep.  A volume reduction equal to a 1-foot length deduction is made on this segment for cylinder redirection.
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